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QUESTION 1

Which two attack vectors are protected by Next-Generation Intrusion Prevention System (NGIPS)? (Choose two) 

A. Cloud 

B. Data Center 

C. Corporate WAN 

D. Endpoints 

E. Email 

Correct Answer: CE 

 

QUESTION 2

In which two ways has digitization transformed today\\'s security threat landscape? (Choose two.) 

A. Expanding complexity 

B. Growing ecosystem 

C. Decreasing endpoint ecosystem 

D. Decreasing 3rd party applications 

E. Decreased access points 

Correct Answer: AB 

 

QUESTION 3

What are two steps customers can take to evolve to a trust-centric security philosophy? (Choose two.) 

A. Limit internal access to networks. 

B. Require and install agents on mobile devices. 

C. Always verify and never trust everything inside and outside the perimeter. 

D. Block BYOD devices. 

E. Only grant access to authorized users and devices. 

Correct Answer: AE 

 

QUESTION 4

700-760 VCE Dumps | 700-760 Practice Test | 700-760 Study Guide                                2 / 3

https://www.pass2lead.com/700-760.html
https://www.pass2lead.com/700-760.html
https://www.pass2lead.com/700-760.html


https://www.pass2lead.com/700-760.html
2024 Latest pass2lead 700-760 PDF and VCE dumps Download

What are two common seller obstacles? (Choose two.) 

A. Unresponsive potential customers 

B. Overcrowded portfolios 

C. Complexity of solution components 

D. Fragmented solutions 

E. Seller competition 

Correct Answer: AD 

 

QUESTION 5

Which two elements does Tetration provide for security posture and traffic analysis? (Choose two.) 

A. Device updates 

B. App process information 

C. App access control 

D. App dependency map 

E. Hardware packages 

Correct Answer: D 
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